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1km? = 100 ha = 10000 a = 1000000 m?
Qofl= At = 100 100 olal
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@ 6t = 6000000 g @ 500kg = 04t
@120000g = 1200kg @ 0.03kg =30g

® 7000g = Tkg

1t = 1000 kg = 1000000 g
® 120000g = 120 kg
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[> HEH: 5400ha

9% 6 = 54(km?) = 5400 ha




@ 330a = 3.3ha
® 540000 m? = 54 ha

® 1.7km2 = 17000 a

@ 20ha = 0.2km?
@6.1 ha = 6100 m?

@ 6.1 ha = 61000 m?2




® 0.21ha @ 3000 cm x 45m

® 5800a @ 1.43km?2

(@)1.41 km?
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T 22 9= 1A v gy
D0.21 ha = 2100 m?
@3000cm x 45m = 30m x 45m = 1350 m?
®5800a = 580000 m?
@®1.43 km? = 1430000 m?
(®1.41 km? = 1410000 m?
@®>0>0>0>0
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© 7320kg = 7.32¢

® 875000 = 875kg = 0.875 ¢
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(AFzte] o)
8t = 8000 kg
(B % Sl W) AR 5=

: 70 x 80 = 5600( kg),

(8000 — 5600) + 32 =

75(°3Ah)




10. #HLoJyE= 3.2ha 9] =04 & 5.6t = AL, W= 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
% kg H BHUE?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)
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17.6 —17.5 = 0.1(kg) & @5t




